Category Boosted Resolved

Npjet =1 | Npjet 22 | Npjet =1 | Npjer = 2
Misidentified T 2054+21|144+£18 | 199 £ 13 170 £ 12
t production 78 2.1 82+1.9 59 +5 127 £ 9
Others 53+20 1.6 £0.8 56 + 25 23 + 11
Total bkg 34+ 4 242 +£27 | 314+£29 | 320+ 19
Data 39 25 332 316
LQy EV k=1, M=1.7 TeV 46+07 | 80F+1.2 3.1+03 77 +£0.7
TLQy k=1 A=15,M=14TeV | 55+ 04 | 48+04 | 5.0+02 | 6.6 +03
TLQy k=0 A=15,M=1.1TeV | 101 +0.7 | 8.6 £0.7 | 13.4+0.6 | 16.4 + 0.8
vLQg A=1.5, M=0.5TeV 135408 | 11.0+0.8 | 52.7 + 2.7 58 +3




